M
AC
=)
&
=

REEER

Wy 7TmRINRI-X

BEREEAORIIRXRN N, BEEBED—FT 12732147,

QETMEFMEICEN. EORAEEXBELEDEMICL)RETIMIPRELSTFIET,
OHEIEL Ot L. ®IR80C X THRNEE ICTEA <LLEV A\
@125AL1 b I3 &, (ZEHE), T

@/ > RAMKIFSUSA30%,, (125AL1E 13 858Y)

J

wWEE TR —

A10148 | Fv7SGREVEL

o]

WEE T

F

Eii

wEE T -0

£ 2

SGPEH.
@mBEI—K A10148 Fv7SGREZVEL B4 (mm)
FA T [ EaEHE PYTHEIY RN AH
a—f | FIR|HUR e |t C Tgxex [P 2 | F @
0018 SG- 15 Vs 21.7 06| 25 | M6X20 | 26 W% 6 250
0022 SG- 20 % 27.2 06| 25 | M6X20 | 26 W2 6 250
0037 SG- 25 1 34.0 06| 25 | M6X20 | 26 W% 6 200
0041 SG- 32 1% 42.7 08| 25 | M 8%x25 26 W2 6 150
0056 SG- 40 1% 48.6 08| 25 | M 8%X25 | 26 W% 6 120
0075 SG- 50 2 60.5 08| 25 | M 8%x25 | 26 W3 6 100
0080 SG- 65 2% 76.3 1.0 32 | M 8X25 | 26 W% 6 100
0094 SG- 3 89.1 1.0 32 | M 8X25 | 26 W% 6 80
0107 SG-100 4 114.3 1.0 32 | M 8%X25 26 W% 6 60
0111 SG-125 5 139.8 3.2 32 | M10X30 | 36 W', 8 30
0126 SG-150 6 165.2 3.2 32 | M10X30 | 36 W', 8 30
= ~
A10150 | Fvy7Ccum4a v EL
HER,
@mEI—K A10150 Fvy7CUmZEL B 457 (mm)
91 oo | BEEHE T EEN A
o [ PIX|WOR ey U Cexee (P [Pl
0016 CU- 8 Va 9.52 06| 25| M6X20 | 26 W% 6 400
0035 CU- 10 % 12.70 06| 25| M6X20 | 26 W% 6 400
0040 CU- 15 Vs 15.88 06| 25| M6X20 | 26 W% 6 350
0054 CU- 19 % 19.05 06| 25| M6X20 | 26 W% 6 250
0069 CU- 20 % 22.22 06| 25| M6X20 | 26 W2 6 250
0073 5 ) =] 25.40 06| 25| M 6X20 26 W% 6 250
0088 CU- 25 1 28.58 06|25 | M 6X20 | 26 W2 6 250
0092 CU- 32 1% 34.92 06| 25| M 6X20 26 W% 6 170
0105 CU- 40 1% 41.28 06|25 | M 6X20 | 26 W2 6 150
0110 CU- 50 2 53.98 06| 25| M6X20 | 26 W% 6 120
0124 CU- 65 2% 66.68 08| 25| M 8x25 | 26 W% 6 150
0139 CU- 80 3 79.38 08| 25| M 8x25 | 26 W2 6 130
0143 CU-100 4 104.78 08| 25| M 8x25 | 26 W% 6 80
0158 |CU-125| 5 130.18 | 32| 32 | M10x30 | 36 | W% | 8 | 30
0162 CU-150 6 155.58 3.2 | 32 | M10X30 36 W s 8 30
= ~
A10153 | Fv7SUBZVEL
AT L AERE (SUTIVOE) A
mBEI—-F A10153 Fv7SURSEL B4 (mm)
¥4 oo | BAEHE PYTTIIY BN A
a-f | TR |HUR T ey |t C xR (P &2 | F W@
0018 | Su- 13| 1 1588 | 0.6 25 | M 6x20 | 26 | W% | 6 | 350
0022 SU- 20 % 22.22 06| 25 | M 6X20 | 26 W2 6 250
0037 SU- 25 1 28.58 06| 25 | M6X20 | 26 W% 6 250
0041 SU- 30 (1) 34.0 06| 25 | M 6X20 | 26 W2 6 170
0056 SU- 40 1% 42.7 08| 25 | M 8xX25 | 26 W% 6 150
0075 SU- 50 1% 48.6 08| 25 | M 8X25 | 26 W% 6 120
0080 SU- 60 2 60.5 08| 25 | M 8%x25 | 26 W% 6 100
0094 SU- 75 2% 76.3 1.0 32 | M 8X25 | 26 W% 6 100
0107 SU- 80 3 89.1 1.0 32 | M 8X25 | 26 W% 6 80
0111 SU-100 4 114.3 1.0 32 | M 8X25 | 26 W% 6 60
0126 SU-125 5 139.8 3.2 32 | M10X30 | 36 W, 8 30
0145 SU-150 6 165.2 3.2 32 | M10X30 | 36 W', 8 30




